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S - All Questions are compulsory and each question is of I mark.
(ii) 3 qrren ° a7 g7 7 Ref 7 sinstt A &8 e &

Only English version is valid in case of difference in both the languages.

(6x2

T EF, IIE A AR o AR
F W0 TS w €

3 e aon w

b HETE TN =

s TGN

i IR E F B

=== BT agd ¥ o T o e
Lacu
a0
IR |

N
i IR | W A

HDLC #1 qui &7 &
3 Half-duplex  Digital  Link
Combination

High-level Data Link Contro!
- High-Duplex Line Communication
»  Host Double-Level Circuit

Eh €4 1)

.. are used for cellular phone,
satellite, and wireless LAN.

(a) Radio waves

(b) Infrared waves

{c) Microwaves

(d) None of the above

The Hamming distance between
equal code words is

(a) 0
(by 1
(cy N

(d) None of the above

HDLC is an acronym for ___

(a) Half-duplex Digital Link
Combination

(b) High-level Data Link Control

(c) High-Duplex Line Communication

(d) Host Double-Level Circuit

P.T.O.
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4. Y9H, FENiHE N FoR GRS R
Jea% ¥ T 99 wEAT 8, ofRE @l
s ae s fafr . st d

(a) vaw o
(b) © fimor
(c) gaftes Fm
(d) S¥H @ P

5. FAHIARQE TiETE
(a) Acknowledge Repeat Request

(b) Automatic Retransmission

Request
(¢) Automatic Repeat Quantization

(d) Automatic Repeat Request

6. oflEarT FeEw wuR e ¥ @ fEg
St 7 ¥ 0
(a) fameeg (b)

O PEETE  (d)

T g
Femfesw

7. U AT SEEeON qeA® St ORI
Gl ot B & HE A
(2 FDM (T®&ETm,)
(b) TDM & &um)
(c) WDM (T=1gwm)
(d COMA

8. I W ghFat o BT wm @ @ A,
N &F el
(a) sWIAAEST (b)) o1 S
(c) WRIANwSH (d) ¢ et

2)

refers to a set of proc
used to restrict the amount of
that the sender can send bef
waiting for acknowledgement.

{a) Flow control

(b) Error control

(¢) Transmission control
(d) None of the above

ARQ stands for _ .

(a) Acknowledge Repeat Request
(b) Automatic Retransmission Regu
(c) Automatic Repeat Quantization
(d) Automatic Repeat Request

A television broadcast is an example
of ____ transmission.

(a) Simplex

(b) Haif-Duplex
(c) Full-Duplex
(d) Automatic

An analog multiplexing technique
that combines analog signals is called

(a) FDM
(b) TDM
(¢c) WDM
(d) COMA

If all devices are connected with a L=
central hub, Topology is

(a) Bus Topology
(b) Ring Topology
{c) Star Topology
(d) Tree Topology
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fifeFel TS Had ¥ TH9 wA B
THFAE

a) AT

b) TWEE

) (a)  (b) FF

d) THEEd A B e

HDLC & & e &

1a) TERI A

b) WHEH WA

ic) HAET ©IH

(d) U ot

% Aok i e 9 P ww
ST &

(@ 1sec (b) 2sec

(¢) 10sec (d} 100 sec

fed T PR & T e e
FA T TR E

(a) FZEEH A
(b) BT R
(¢) oo o
(d) HIH AR

¥ et Aeas | Swam g ¥
(a) %ae BECN

(b} %ad FECN

() (a) W (b) At

(d) A @ HE T

A e i o R

e

(3) 2033

9. Light source in Optical Fiber Cable
may be a

(a) LASER

(b) LED

(¢) Both (a)and (b)
(d) None of the above

10. HDLC station can be a
(a) Primary Station
(b) Secondary Station
{(¢) Combined Station
(d) All of the above

11. Bit Rate is number of bits sent in
(a) 1sec
(b)y 2sec
(c) 10sec
(d) 100 sec

12. Layer, which is used for interface
between system and user, i$

(a) Network
(b) Application
(c) Datalink
(d) Session

13. Frame relay networks can use
(a) Only BECN
{b) Only FECN
(c) Both (a) and (b)
(d) None of the above

P.T.O.
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14, THFRE GFd TR F 57 99 §
(a) @& 3 H FAR
(b) 9T & FIR
(c) At
(d) I H S g T
15. OSImodel®  wE@ &
(a) 4 by 5
() 6 (d 7
16. Ao 2T 1T Al HeeT &
(a) TIRIY Fa
(b) TAEH ARt % I Heae
(c) Nfeee BRI P
(d) FelforzsheT et
17. | 99 % v Wees # foe =1
TG = et &
(a) e Rafem
(b) HEpe fafem
(c) v fafem
(d)y R fatan
18. wmgfen faet mdew o vus age |
FEATI &
(a) e faet
(b) Hfem =t
() B AN T FUA (Stop and
wait) ARQ
(d) wmieT Get
19, TRI1E qHATE
(a) o (b) wE
(c) vy (d) ST T

@

14.

15.

16.

17.

18.

19.

Infrared signals can be used for
(a) Long-range communication
(b} Short-range communication
(c) Both

(d) None

OSI Model has layers.
(a) 4 (b) 5
(c) 6 (@ 7

Maximum data rate cable is
{a) Coaxial cable

{b) TWISTED pair cable
(¢} Optical fiber cable

(d) Electrical cable

Switching, which reserves
resources for full session

(a) Packet switching

(b) Circuit switching

(c) Line switching

(d) Frequency switching

In sliding window protocol,
sender keeps a list of consecuu
sequence numbers is known as

(a) Receiver window
(b) Sending window
(c) Stop and wait ARQ
(d) Sliding window

Data can be either

(a} Images

(b) Numbers
(¢) Words

{dy All of these




)] 2033
- == T % 9" 0% Y @ 20. A channel is defined as a path
a T RdE between
& TIEE Tt (a) Transistor and receiver
< T fedew (b) Transmitter and transistor
& THIgFET (c) Transmitter and receiver
(d) None of these
PIPE
o e EE 21. TCP/MPisa:
. (a) Network Hardware
e (b) Network Software
<

(c) Protocol
{d) None of these

== é & T g S S A 22. Which of the following performs
-t modulation and demodulation ?

. IR SN (a) Fiber optics

& THE (b) Satellite

£ W (¢) Modem

o R B (d) Coaxial cable

iK€ 23. NAK means

a 9wl (a) None Acknowledge

Wy ST UEHiesT (b) Noise Acknowledge

« e TERiAeHT (c) Negative Acknowledgement

o TEEF T (d) Network Acknowledgement
g THE TEIINGH % MhE & o 24. “Leaky Bucket algorithm does not
s sfa = T rewmy allow bursts.” Statement is

. T (@) True

R (b) False

« TEERivEmy | (c) Depends on traffic

& FE TR (d) Can’tsay

P.T.O.
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25. fot gam & 9w o IR fign & Wiy
@rED) % o, St 58 g W o
TR F1 A AR & T w A A S
¥, 7% awE S ¥
(@) LA, (b)y U EE
(c) THEH (d) S T

26. fova F e FEER e ek ¥
(a) ARPANET
(b) ERNET
(c) SKYNET
(d) DARPANET

27. B 83 % AU FGT aF 95 F v
RETIC S
{(a) LAN
(b) MAN
(c) WAN
(d) I H | HE T

28. =REEW N IGLNT BT T
(a) TR H FHA A
(b) T H UaT T H
(c) SUITT FHT (a) T (b)
(d) IR ° Y FE T

29. wgfa @ AT S ¥
(a) TwHed (b) I WHTH

(c) &&= d (dy =mEEs ®
30. UH WEA 0T H ¥ gfrafsa

fFmr T

(a) 3ma™ (by et

) d) T RS

(6)

25.

26.

27.

28.

29.

30.

is the technique of pra
a data string that is aG3
information packets used tc
errors in data packets.

(a) CRC

(b) Parity check
(¢) Checksum
(d) All of these

The first operational ¢
network in the world was the

{a) ARPANET
{b} ERNET

{¢) SKYNET

(d) DARPANET

is the technology
computer network, of site for
area.

(a) LAN

(b) MAN

(c) WAN

(d) None of these

Check sum is used for
(a) Error correction
(b) Error detection
(¢) Both(a) & (b)
(d) None of these

Frequency is expressed in
(a}) Second

{b) Nanosecond

(c) Hertz

(d) Megahertz

A sine wave is defined by _____
{a) Amplitude

(b) Frequency

(c) Phase

(d) All of the above
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2l comp
as the AR ] [erfirraw 3@ : 70
raliweed : Three Hours] [Maximum Marks : 70
4 e g ST & v f @ el afe & 3o A
- Question No. 1 is compulsory, answer any five questions from the remaining.
chnology  § g T gt ST @ BEER O J BT B |
site for sn‘: Solve all parts of a question consecutively together.
. TR @9 g ® IR Y

Start each question on a fresh page.
==t urrert e &1 @ Rfr & et srgar & A

Only English version is valid in case of difference in both the languages.

2zcket Switching 31 T

*hat is Packet Switching ?

g = T § 3T e 2

-a™at do you mean by Flow Control ?
\ltplexing T aRefe HIT |

: Define Multiplexing. ,

‘ f¢  Anazlog e Digital fore o st fefad |

81}

®

=2 difference between Analog and Digital Signal.
» Caeways S ORoaNG S |
Define Gateways. (2x5)

§ OS5I Model = T W & A & GO S |

—.2:oribe functions of each layer of OSI model.
' & Wiﬂgﬁ%&ﬂﬂﬁﬁﬁéﬂﬁmdeswwﬁhﬁ |

‘ Zxolain line communication and various transmission modes. (2x6)

(7 P.T.O.
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3. T4 R % Transmission media %t SERYEF Tom |

Explain different types of transmission media in detail.

4. (i) ARQ @& Stop & Wait Wit 7 G Hifod |
Explain ARQ and Stop & Wait protocols.

(i) CRC %t TR0 Fhew THEL |
Explain CRC with example.

| 5. () wufe =y o qun e fd & o aumd
i What is frame relay ? Explain its advantages.

(ii) Leaky Bucket TeTiar % gl #ifwa |
Explain the leaky bucket Algorithm.

6. T w=i =t wwmER
Explain the following term :
() Wmwe
Hamming Code
(i) FDDI

7. (@) ¥ e % geg St dkre ¥ qo B3R
Describe the basic functions of data link layer briefly.
'3 (i) Packet switching @4 Circuit switching ¥ siert forfet |
Give difference between Packet switching and Circuit switching.

8. Prefafas w dfira femfort fafas .

Write short notes on the following :

(i) e
Topology

(i) FATH B
Congestion Control

(iii) FDM @ TDM
FDM and TDM




